Topic 9: Rational expressions and functions

Rational Expression:

The ratio of two polynomials.

Simplify each|without a calculator. | Give answer as a single

fraction in reduced form.

2
®,
- Y
3 3

4

b

2.

-

Instead of dividing by a ratio you can mul’nply by its
reciprocal. This allows you to cross cancel.
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Simplify each|without a calculator. | Give answer as a single
fraction in reduced form.
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Instead of subtracting 11 I've changed this to adding -11. This allows
me to distribute the negative and the 11 at the same time.
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